Minimum Spanning Tree Algorithm
The minimum spanning tree (MST) of a weighted connected graph is a subgraph that contains all of the nodes of the original and a subset of the edges so that the subgraph is connected and the total of the edge weights is the smallest possible.
The Dijkstra-Prim Algorithm(Greedy Algorithm)
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To find the MST, we will use what is called a “greedy”  algorithm. Greedy algorithms work by looking at a subset of the larger problem. Our general algorithm for this process is as follows

The following Figure gives an example of this algorithm in operation
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All of the nodes directly connected to node A become the starting fringe set. We see that the edge with the smallest weight connects nodes A and B, so B is added to the MST along with the edge AB. 
When node B is added to the tree we need to determine if there are any nodes that need to be added to the fringe set, and we find that nodes E and G must be added. Because the only tree node they are connected to is node B, we add those edges to the ones we will consider next. 
At this time, we also need to check to see if the edges from node A to nodes C, D, and F are still the shortest or if there are better edges from node B to these three nodes. 
In the original graph, there are no direct connections from node B to nodes C and F, so those will not change. But the edge from node B to node D has a smaller weight than the one from node A, and so the edge BD now replaces the edge AD.

Select a starting node


Build the initial fringe from nodes connected to the starting node


  While there are nodes left do


       choose the edge to the fringe of the smallest weight


       add the associated node to the tree


       update the fringe by:


       adding nodes to the fringe connected to the new node


       updating the edges to the fringe so that they are the smallest


end while








